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2. Unit Test

1) Queue & Direction

Msize()

Test Result

Procedure Expected Result
a. 27| queue9 sizew= 1o|C}
b. Pressed Buttoni}t
. _ ueue?] Afo]|= zZro] y-erc}.
queue.insert= Zrolof Jict, d v
c. queuef] sizeZ} &7}ttt

PASS

@removeMin()

Procedure

Expected Result

Test Result

c. AT =9] indexS

. Ajyo]E7} BH S0 TASH
b. queueoﬂ/\1 iR A L HCE
Flxciasis

EAFSE 29] index?to]

Nullgto] ofifojoseicy.

PASS

®getDirection()

Procedure

Expected Result

Test Result

a. AHolH | ¥

7HR| AL Qlct.
b. queued] %= WIFS
/ot WES vrgtsiet

T2 queue”f

uhshe Wkl
opofofste.

Ztol Nulizko]
AAtstod

PASS

Finished after 0.007 seconds

Runs: 3/3 B Errors: 0 B Failures: 0

4 ] testQueue [Runner: JUnit 4] (DGOD 5)

e testRemoveMin
el testSize (0.000
g testGetDirection

1 o
gueue left = new queue();

@Test
public void testSize() {
gssertfguals(left.size(), 1)

@Test

public void ‘[es‘cRe‘rlcwel‘lln\'I {
left.insert(5)
assertiotiull(left.removenin());

@Test
public void testGetDirection() {
assertNothull(left.getDirection());




@®enqueue(int floor)

Procedure Expected Result Test Result
a. size o] S7slokstct.
a. 79 NodeZl 4r&Eo] floors
el NodeZp A7 = | b nodest Arsiolglofor PASS
A o
®min()
Procedure Expected Result Test Result
a. returnzfo] nullo]H
a. 71 A2 kS return ottt . PASS
®max()
Procedure Expected Result Test Result
a. returnzfo] nullo|¥#
a. 7P 2 32 return orsict = PASS
g#eui testqueue = new queve(); Runs: 3/3 @ Errors: O B Failures: 0
es
public void enquevetest() { L
assertFquals(1, testqueue.size());
assertiotMu( testqueue. trail); 4 Fi testQueue [Runner: JUnit 4] (0.000 s)
el enqueuetest (0.000 <)
@Test ¢E] mintest (0.000 5)
public void mintest(}{ g maxtest (0.000 g

asserthothuli(testquese. min());

@Test
public void maxtest(}{
asserthothui(this . testqueue.max());



2) Movement Algorithm
@ getLeftQueue

Procedure

Expected Result

queues 87

b. queueE vrEhstct

@ getRightQueue

a. MovementAlgorithm QFojj A

Test Result

Aok ¥4hke queuel] O]
Nuligtol ofLjojogict. PASS

Procedure

Expected Result Test Result

a. MovementAlgorithm Qo] A

queues 37

b. queueE vrEhsict

AE T2 queued] %ol

Nullgto] ofjojofstet. PASS

@ init()

Procedure

Expected Result

a. MovementAlgorithm QFoj| A
queues A3

Test Result

XA EE F7F left,righto]]

Soj7to} et PASS

movementAlgorithm mA = new

movementAlgorithm();
@Test

public void testInit() {
mA.init();

assrfiﬂbtﬂhffgmA.left};
asserthotMdI(mh. right);

t
@Test

public void testGetleftQueue(){
mA.init();

asserthotMI(mA. getleftQueue());
@Test

public void testGetRightQueue(){
mA.init(});

assertotMuII(md . getRightQueue( ) );

Runs:  3/3 B Errors: 0 B Failures: 0

4 EE testMa [Runner: JUnit 4] (0.000 s)
gl testinit (0.000 3)
dz'—_l testGetRightQueue (0.000 <)
tE] testGetLeftQueue (0.000 <)




3) State
@ getState

Procedure

Expected Result

ARt
b. @ $IxIZ ¥

a. A2JHolE] objecte] A x| =

2o @A 9Jx17} Null o]

o olstct.
S o opetet

Test Result

PASS

Finished after 0.042 seconds

Runs: 1/1 B Errors. O B Failures: 0

4 E| testLeftObject [Runner: JUnit 4] (0.000 s)
E.JE'—_l testGetState (0.000 )

leftObjectPanel 1 = new leftObjectPanel():

@Test

public void testGetState() {
asserthothull(l.getState());




